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Q) @gt geT sfHar §

(i) @S : FT &1 &5 T% 37 Tg-ITT Fo7 & 3N yedeh I97 & 7w 1 37
&/

(iii) @S & : J9 G&I1 6 & 12 G TY-ITIT J97 & 3K yedoh Jo7 & fore 2 31 & |

(iv) TS T: J97 &I 13 T 24 7% 4 Tg-3707 F97 & 31K I4% J97 3 70 3 3%
&/

(v)  GUS T : JoT &I 25 G 27 TF JH-3709 97 & 31T Jedeh J97 & [0 5 3% & |

(vi) ¥¥7 97 4 gFF 9%y 787 1397 7 8 | 1Y o v 37 aret g1 ¥l 4, g1 3] arct
gl yo9l 4, @7 7Bl Gt R e 7 a9r g 3Hl aret 9 g 7 labeq 1591
g /1 08 gyl 3571 7 @ 379! T & [dHeT BT IHW T E |

(vii) T3 STETHaT §l, T Y TYTIHIT GRIET 7T Gohd & | dopaicdl & IIIT FH
7Hld TR E |

General Instructions :

(1) All questions are compulsory.

(it)  Section A : Questions number 1 to 5 are very short answer questions and carry
1 mark each.

(iti) Section B : Questions number 6 to 12 are short answer questions and carry
2 marks each.

(iv)  Section C : Questions number 13 to 24 are also short answer questions and
carry 3 marks each.

(v)  Section D : Questions number 25 to 27 are long answer questions and carry
5 marks each.

(vi)  There is no overall choice. However, an internal choice has been provided in
two questions of one mark, two questions of two marks, four questions of three
marks and all the three questions of five marks weightage. You have to attempt
only one of the choices in such questions.

(vii) Use of log tables, if necessary. Use of calculators is not allowed.

Qs A
SECTION A
1.  KCl3ft AgCl & § SiF Wigehl gy gufar & 37X =i ? 1
AAAT
T T TR ZnO Fell Fi Jdid Jiar g ? 1
Out of KC1 and AgCl, which one shows Schottky defect and why ?
OR

Why does ZnO appear yellow on heating ?
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2.  Tfafied = & @@ & =ged gU A H SFaied T 1
CgHsNH,, (CH3)3N, CoHsNH,
Arrange the following in decreasing order of basic character :
CgHsNH,y, (CHg)3N, CoHsNH,
3. " TR &1 wIdise s1d1 & I« frHl 39 * ga | uiifaed foram STa1 2 2 w6
3SR I | 1

What type of colloid is formed when a solid is dispersed in a liquid ? Give
an example.

4. FANESIHE 3N AEaFARfFaA FANES H 8 hiq ARl gfdeemg stfsrfsman
= gfa 31feres stfufsramiia & o == 2 1

Out of Chlorobenzene and Cyclohexyl chloride, which one is more
reactive towards nucleophilic substitution reaction and why ?

5. T AR Aga™ H HANd TEHTCHS TR FT g ? 1
JrraT
DNA o Jd-3199eH 9 Ired 39T faafau | 1

What is the basic structural difference between starch and cellulose ?
OR
Write the products obtained after hydrolysis of DNA.

Qs
SECTION B

6. TfafRaa wspHi o folu wgfora TamRfes awieh fafav . 2

(a) S 94 T Cly, YaTfed i Tt B |
(b)  Fe(III) &1avT % it faera & SO, 1 yarfad =t STt 2 |

areran
(a) FAT 19§ o 78 < fadeft et o 9w fafgu |
(b) IR ¥ TR = W Cu?t faeaq Hem T =i 2a1 8 2 2

Write balanced chemical equations for the following processes :
(a)  Clyis passed through slaked lime.

(b) SOy gas is passed through an aqueous solution of Fe(IIl) salt.
OR

(a)  Write two poisonous gases prepared from chlorine gas.

(b)  Why does Cu?* solution give blue colour on reaction with ammonia ?

56/2/1 fioa it e PT.O.
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7. RO AN : 2
(a) @HI SH o a hl YT IIR Pl T GHT Al Siorar & weh Srar
g
(b) WA TR HIRERNE (RBC) @G0T 91 § W@ M W TH=d & Il @
g ITYd A H B Sl 7 |

Give reasons :

(a)  Cooking is faster in pressure cooker than in cooking pan.

(b) Red Blood Cells (RBC) shrink when placed in saline water but
swell in distilled water.

8.  IAMfRA I HIfe ufewrivm i | fu Tu orer@i # sifulshan K wife

ITIfe HIT 9
T
(a) tbtyp——m—
[R],—
T
b))  tip
[Rl,—

& [R], S ol IR FT5AT 8 31ty 314 37T 3 |

Define order of reaction. Predict the order of reaction in the given graphs :

T
(a) tbtyp——m—
[R],—

T

b))  tip
[Rl,—

where [R], is the initial concentration of reactant and ty/9 is half-life.
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9. & FeCry0, ! i I AT H NagCO4 % A1 Fferd foham Srar B at
Ak (A) w1 dren foemaa e g 2 | Afes (A) sreefie fohe S @ Aifies
(B) <d1 8 | Aifies (B) KC1 % @1 Affshan sk Ush AT 1 &1 Aifiek (C)
AT 7 | AfH (C) T e faeta NagSOg i (D) H Terefiehd &L 3T 7 |
(A), (B), (C) 3T (D) =l Yg= ST | 2
When FeCrq0O4 is fused with NagCOg in the presence of air it gives a
yellow solution of compound (A). Compound (A) on acidification gives
compound (B). Compound (B) on reaction with KCl forms an orange

coloured compound (C). An acidified solution of compound (C) oxidises
NaySOg3 to (D). Identify (A), (B), (C) and (D).

10. %A [Colen)y(NOy)CI* T TUPAC W TARET | 38 d%d giI fhd TR h

A GHTSIId] e3Is STdl & ? 2
AYAT
IUPAC WHEUS] 1 3WIM *id Y fHdiigd sl % 97 fafew 2

(a)  QFETCFETShITHER(III) FARISS
(b)  Hifem ZrgaTTaIerbie(I1)

Write ITUPAC name of the complex [Co(en)o(NO9)CI]*. What type of
structural isomerism is shown by this complex ?

OR
Using IUPAC norms, write the formulae for the following complexes :

(a) Hexaaquachromium(III) chloride
(b)  Sodium trioxalatoferrate(III)

11. (a) J&EU [NiCl)% 3R [Ni(CO),] i # sp? wehtor grar 3 s oft
[NiCl)%~ STgrhIa & 3 [Ni(CO),] Jfograshim 8 | wrw dfe |
(Ni =T TTATY] ShHTH = 28)
(b) Topea & forgra & YR W d° &1 soaeii-eh foare feifay S=ifsh
i) A, <P3IW
(i) A,>P 2
(a)  Although both [NiCl,]?>~ and [Ni(CO),] have sp® hybridisation yet

[NiCl4]2_ is paramagnetic and [Ni(CO)4] is diamagnetic. Give
reason. (Atomic no. of Ni = 28)

56/2/1 fioa it e PT.0.
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(b)  Write the electronic configuration of d® on the basis of crystal field
theory when
(1) A, < P and
(i) A,>P
12. FfaRea g sifufsean & g Aifient A 3t B 1 T fafeu - 2
PCl5 H2 /Pd—BaSO4
(a) CgH5COOH > A > B
(i) CH,MgBr
b  CHLON 3Mg ;A Zn(Hg)/ |12 HCI . B
(i) H3O*
Write structures of main compounds A and B in each of the following
reactions :
PCl5 H2 /Pd—BaSO4
(a) CGH5COOH > A > B
(i) CH Br Zn(Hg)/ HC1
()  CH,CN 3Mg P n(Hg)/ conc. HC G
(i) H3O*
«Qus 9
SECTION C
13. 3fGRAT A + 2B —— C % T fefaiad stishs T 3T : 3
C & for=m =1 yrfmres o
T [Al/M [BI/M . 1
/M min
1 0-2 0-3 42 x 1072
2 0-1 0-1 6:0x 1073
3 0-4 0-3 168 x 1071
4 0-1 0-4 2:40 x 1072

(a) A3 B ufa Afufsran i swife 31 HifST |
(b) o fem i afufskan it et wife foafew |
(¢) 97 ferie (k) Uienferd hifST |
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The following data were obtained for the reaction :
A+2B ——> C
Experiment [A/M (BI/M Initial rate of f(.)rI_I}atlon of C
/M min

1 0-2 0-3 42 x 1072

2 01 0-1 6:0 x 1073

3 04 0-3 1-68 x 1071

4 01 04 2:40 x 1072

(a)  Find the order of reaction with respect to A and B.
(b) Write the rate law and overall order of reaction.

(e) Calculate the rate constant (k).

14. (a) 9 ! gRfere yaeen iR aRedor arem fafaw |
(b) e TSI Icshuvi STefeh THISNYOT STcshAvI =i 3 ?

) T d & s fafy g v Faieel afa sArn T | W § 99 Agl
HITZES! HUM & HUL T W 2 ? I8 |icd hdl F&fua foram smar 8 2 3

(a)  Write the dispersed phase and dispersion medium of dust.

(b) Why is physisorption reversible whereas chemisorption is
irreversible ?
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(c) A colloidal sol is prepared by the method given in the figure. What
is the charge on Agl colloidal particles formed in the test tube ?

How is this sol represented ?

lKI solution

solution

15. Y] g 81 u % fohell ded X %1 e 10-2 g cm ™ B | AR Teheh hITsaaht
W IFAT 27 x 1023 ecm® B, O T Theh HifSSehl o ThR hl JgaH
Fifse | (fem T 8 0 Ny = 6:022 x 1023 mol 1) 3
An element X with an atomic mass of 81 u has density 102 g cm 3. If the

volume of unit cell is 2-7 x 10723 ¢cm3, identify the type of cubic unit cell.
(Given : Ny = 6022 x 1023 mol 1)

16. 19 g 9fd 100 mL KC1 (M = 74-5 g mol™}) &1 fae@a 3 g 9fd 100 mL Ifem
(M = 60 g mol™1) & T TOED & | KC1 faeem i foriem <t wrn uftepfora
Hhifsre | a= <fifSe for @t faeem sam A W E | 3

A solution containing 1-9 g per 100 mL of KC1 (M = 745 g mol™D) is

isotonic with a solution containing 3 g per 100 mL of wurea
M=60g mol™1). Calculate the degree of dissociation of KCl solution.

Assume that both the solutions have same temperature.

17.  (a) 56, (b) WM, (¢) Tt & fou g uitewr fafr 1 am i
fagra faRaw | 3

Write the name and principle of the method used for refining of (a) Zinc,

(b) Germanium, (c) Titanium.
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18. fr=fafea & fore swor € 3
(a) Gl IGE THa Ak ST & |
(b) (Zn?*/Zn) 3R (Mn?*/Mn) & fdU E° & wH swfem @i @ oifue
TS BId & |
(c) UfFeAiag StierfieRtur Sraeenati o1 A T0d giid 8 |
Give reasons for the following :
(a) Transition metals form complex compounds.
(b) E° values for (Zn?*/Zn) and (Mn?*/Mn) are more negative than expected.
(¢) Actinoids show wide range of oxidation states.

19. fAffad sgatehi 1 Id T o ToTT T Thetehi ol HEATE fAfET 3
(a)  IgA-6
(b) A
(¢ S{I-N
arerEn

(@) M 4CH, — CH(C H,)T T HHegEerh el Tesgeieh & ? Rl ST |

(b) f=fciRad sgash & Thareh fafa :

fO-CH-CH,-C-0-CH-CH,-C}
I Il I Il

CH, 0 CoHjp 0
() T o SghA § Saliac WIFETES hl et AIRa | 3
Write the structures of monomers used for getting the following
polymers :
(a) Nylon-6
(b)  Terylene
(c) Buna-N
OR

(a) Is +CH, —CH(C H.)t a homopolymer or copolymer ? Give

reason.

(b)  Write the monomers of the following polymer :

$0-CH-CH;~C-0-CH-CH,-C},
Il Il
CH, 0 CoH; 0

(c) Write the role of benzoyl peroxide in polymerisation of ethene.

56/2/1 Efioa it e PT.0.
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20. (a) TAfafad & @ 3es fafohce™ U < 3TUR W v foww &1 ST :
FFAA, TR, TRARHA, THAA
(b) Fdd 919 % IFAN H FH I gd ITYHTSIS hd ThR o ITYHTSI ald
72
(¢) UEIICH 1 IUIANT hadl 3 QI Uil deh al Hifed = g 2 3
e
Tcleh o foTu 3t Ieewr afgd f=fafad ueh =1 uitnfya hifvw 3
(a) Sfosifaes (Tfeamates)
(b)  gfaueh (vfeafess)

(c) RO STYATSI

(a)  Pick out the odd one from the following on the basis of their
medicinal properties :

Equanil, Seconal, Bithional, Luminal
(b)  What type of detergents are used in dishwashing liquids ?
(c) Why is the use of aspartame limited to cold foods ?

OR

Define the following terms with a suitable example of each :
(a)  Antibiotics
(b)  Antiseptics
(c) Anionic detergents

21. 3EH C4HgBr % Ot guta=ai § ¥, T8y
(a) U GUIEGId Sl vl B[O & |
(b) T THTEIS S SN2 % Tfa 3Tcafess srfufshamsfiar 2 |

(© U@ q uEEd S UehiErdl dReRem wsglaass gu fawsgeme %
HEIEY Teh SE] 3¢UTE od 7 | 3

Among all the isomers of molecular formula C4HgBr, identify

(a)  the one isomer which is optically active.

(b)  the one isomer which is highly reactive towards Sy2.

(c) the two isomers which give same product on dehydrohalogenation
with alcoholic KOH.
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frefafaa stfufseamsti o6t ot i - 3
CN
(a) ﬂ
CH,
Br H,PO, + H,0O
) @/ 3POy + Hy
NGCI-
CH, - NH, §
(0) @ + CHC, TeHicre: KOH
Jrqan
A F=ffga waraer S8 w 3

(a) N-BHATITHEE & p-SAHRfe=
(b) S STETSHIEH FANEE § ATEeIasl
(¢) Swilgeh A § UIe=

Complete the following reactions :

CN
/N
(a) Z—/Nl>
CHgq
Br H,PO,+ H,0
(b) <j|/ 3 2 2
+ —
N,ClI
CH, - NH, )
© @ N CHC13 Ethanolic KOH
OR

How do you convert the following :
(a) N-phenylethanamide to p-bromoaniline
(b) Benzene diazonium chloride to nitrobenzene

(¢) Benzoic acid to aniline

56/2/1 Ereeivem P.T.0.
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23. (a) RO GRT :
()  UHifew 3rA h U SAIgh ITFA TIA 3TFA Bl @ |
(i) VAT i UL BT ANMREIE! AT AT(HATT o Ifd 31fers
srffspamsfier Bt 2 |
(b) TUAA 3R NUAA & o= fadg i & v T wa qafe wigm
AN | 3

(a) Give reasons :

) Benzoic acid is a stronger acid than acetic acid.

(i1) Methanal is more reactive towards nucleophilic addition
reaction than ethanal.

(b)  Give a simple chemical test to distinguish between propanal and
propanone.

24. (a) HedH % AA-IIIE & ITIE T 8 ?
(b) WA h o-fTew == F fhg YRR 1 e TA1Ricd YeM T

3°?
(¢) 34 faerfim o1 9m forfaw fSeht wHt & gomsft whreddn & St 8 | 3
srera
Frafafaa ugl =t wftfya i : 3
(a) T U
(b)  Thd TIEH
(¢ —fFasierss

(a)  What are the products of hydrolysis of maltose ?

(b)  What type of bonding provides stability to o-helix structure of
protein ?

(c) Name the vitamin whose deficiency causes pernicious anaemia.

OR
Define the following terms :
(a) Invert sugar
(b)  Native protein
(c) Nucleotide
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SECTION D

25. (a) 0-001mol L~ vHifesr 301 hl ITcthdl 495x10° Sem™! 3 | Afe
uHifes 31t o fTT A2 &1 UM 3905 S em? mol ™! &, 1 39 TS

fesrres &1 ufterets hifSe |
(b)  Affsham
2 Al (s) + 3 Cu?* (aq) — > 2 A3+ (aq) + 3 Cu (s)
& fou 25°C W 3 gt fafan |
(c) HaImh SiEt I 8 2 T 3 4 | 5

AAAT
(a) 39 9d % Fefia Hifve fSad fFefafega stfufsea gt 2 .
2 Al (s) + 3 Ni2* (0-1 M) ——» 2 AI3* (0-01 M) + 3 Ni (s)
3R f9.91.9 (emf) Tiehfeia hifse =fe E%ﬁ ~141V g

(b) YOG AR oA Tagq-sTvEeT & [T HEdT S % "I "ok Areiehdl
foF8 JepR itEfad Bl @ ? 379 goal foed-3Taeed & fag €Hia Ao
=Tershal (A7 ) S ITH T Hehd @ ? 5

(a)  The conductivity of 0-001 mol L acetic acid is 4:95 x 107° S em™1.
Calculate the dissociation constant if A}, for acetic acid is
390-5 S ecm? mol .

(b)  Write Nernst equation for the reaction at 25°C :
2 Al (s) + 3 Cu?* (aq) —— 2 AI3* (aq) + 3 Cu (s)
(c) What are secondary batteries ? Give an example.

OR

(a)  Represent the cell in which the following reaction takes place :
2 Al (s) + 3 Ni%* (0-1 M) —— 2 A13* (0-01 M) + 3 Ni (s)
Calculate its emf if Egell =141V.

(b) How does molar conductivity vary with increase in concentration
for strong electrolyte and weak electrolyte ? How can you obtain
limiting molar conductivity (/\(I)I1 ) for weak electrolyte ?

56/2/1 i i e PT.0.
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26. (a) Tr=faRaa sifufsransti @ for avfiertor Gf
(i)  HHia S dg HNO3 & @1y tfifspan <t St 2 |
(i) WA 6 ByHg § Mufshat stk HyOo/OH™ § SAfufshan &t St
g |
(iii)  EITSIH JAIh-STHTES I CH3Cl o @19 Jfsha i It 7 |
(b)  SYLA-1-31Td 3 SYLA-2-37TcA & off 319 Ha fasig T 2
(¢) FrfaiRaa i Teiiaar & dgd gU hH § SHaeed hifT :

BHTA, TIHTA, ST 5
YT
(a) (1) FLHH, (i) S Hobieh 3T, (iil) Swi- SHUAI-IY FANse
3T HHTA HE ITH L Fehd 7 2
(b)  3-UfUTHHIA o TSRt & WTH gE&T 3cd1g hl wLaqT fafen |
(c) hice Afufspan & Trag srfifsran fafaw | 5

(a)  Give equations of the following reactions :
(1) Phenol is treated with conc. HNOg.
(ii)  Propene is treated with BoHg followed by HoOo/OH™.
(iii)  Sodium t-butoxide is treated with CH3Cl.
(b)  How will you distinguish between butan-1-ol and butan-2-ol ?
(¢)  Arrange the following in increasing order of acidity :

Phenol, ethanol, water

OR

(a) How can you obtain Phenol from (i) Cumene, (ii) Benzene
sulphonic acid, (iii) Benzene diazonium chloride ?

(b)  Write the structure of the major product obtained from dinitration
of 3-methylphenol.

(¢) Write the reaction involved in Kolbe’s reaction.

27. (a) Feafafga % wro df
(i) & 15§ N ¥ Bi G —3 SfTaeletu 3Ta%T o 1 Ygra gedt
g |

(i) HyO ¥ HyTe dh 3lid W&101 sgal ¢ |

(iii) CIFg 61 31e Fy, 31fees rfuframsiiar 8, Sfafeh Cl, 1 smver
CIF 1ftreh srfirfspamsfict 2 |
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(b) (i) XeFy, (i) HyP,0 sl =1 iU | 5
AU

(a) TIRA <l sramy Srfirfshar gwi & fore we Serer dfs |

(b) YA HIEHRH R ATA HIEHRH o &g Teh TLEHTCHS T FIT 7 2

(c) oI gl 8 9 XeFg, NaF & 31fufshar star g 2

(d) HyO i 37T HyS Teh Jgal AIARIH F1 8 ?

(e) TrAfRaa 1=l Sl 3Tk ST AL 6 S §U A H FAATEAA I
HF, HCl, HBr 3R HI 5

(a)  Account for the following :

(1) Tendency to show —3 oxidation state decreases from N to
Bi in group 15.

(i)  Acidic character increases from HyO to HyTe.

(iii)  F9 is more reactive than ClFg, whereas ClFg is more reactive
than Cls.

(b)  Draw the structure of (i) XeFy, (ii) H4P9O7.
OR
(a)  Give one example to show the anomalous reaction of fluorine.

(b)  What is the structural difference between white phosphorus and
red phosphorus ?

(c) What happens when XeFg reacts with NaF ?
(d)  Whyis HyS a better reducing agent than HyO ?

(e)  Arrange the following acids in the increasing order of their acidic
character :

HF, HCl, HBr and HI
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